N:\10 PROJECTS\Government\1802—01 — Orange County — Homeless Shelter\1802—01_Drawings\1802—01_19_1105 — Active dwgs\1802_01_19_1105_A500—Details.dwg

one foot

ocne inch

one foot

three quarters inch

= one foot

one half inch

one foot

three eighths inch

one foot

one quarter inch

one foot

one eighth inch

0
|

16

1

6

\ :\ S '\\ \\.\
o TN /2° WooD TR

—Z 1 /2" TIE BACKER

CERAMIC ETAL EDGE TRIM

R \_NEW WINDOW AT 3RD

FLOOR— SEE ALTERNATES

XISTING PLASTER FINISH TO REMAIN

.............. i

THE
e 1

WAINSCOT

BELOW

JAMB DETAIL

: \5/4” PAINTEC WOOD SILL

SEE MEP DWGS. FOR M

TOP OF PAD

4,000 PSI
CONCRETER

MECHANICAL EQUIPMENT
2 — #5 CONTINUOUS EACH WAY
WWE 6x6 — W2.5xW2.9

SCALE 1 1/2" = 1"-0"

CONCRETE EQUIPMENT PAD

COMPACT
SUBGRADE

6" CRUSHED
STONE UNDER PAD

DOUBLE HUNG VINYL
WINDOW SEALANT
3/4” WOOD SILL
ig'MRE%NU[;R%OCK'NG \ 4" (VRIES) WITH EASED EDGES
= " (PAINTED)
3/4™x PVC SILL- %—'ﬁ@@j ,/ /I MATCH SILL HEIGHT &
AN :,hx T %) ] WITH EXISTING ®
SILL FLASHIN Ff’;.:.;.:.:.;;q.;,:.;.: \\
R W
TRV ’:+ ’] N S RN W p———
3/4"x4" PVC TRM—"" )5 [y
iz \ \: R :3'\?—
1/4 ROUND PVC TRIM—"T" | S5 \_1 /2" X 3° WOOD TR
R R~ < PAINTED
OVER AR BARRIER\\ 1 \1 DULDING, (SAW 5502)
41 Y 4 SIDES
di g ¥
+] N Y »
- : ‘ 1/2" MDF PANEL- PAINTED
2’x 6" WOOD FRAME< : RN /
1. Y N\__6" R-21
5/8”EXTERIOR GRADE 2 N BATT INSULATION
PLY SHEATHING NN
NI o
1/4 ROUND PVC TR R | - [ 1/2" X 3" WOOD TRIM
POLYETHYLENE FOAM ] " PAINTED
SILL SEALER 1 N
3/4x4” PVC TRI _\k 1 YN 1” X 5 1/2" WOOD BASE
SEALANT T8 \ PAINTED (SAW 2204)
METAL SILL \1 ,\\' PATCH FLOORING
FLASHING WITH 4" N T \ TO MATCH EXISTING

VERTICAL RETURN

BRICK TO MAICH
EXISTING

—~

SECTION THROUGH WINDOW

N

SCALE 3" = 1"-07
N N

AREA TO BE REPAIRED
VARIES IN WIDTH

1) REMOVE ANY LOOSE DUST AND DEBRIS.

PLASTER FINISH TO MATCH

L~ EXISTING COLOR AND TEXTURE

PREP SURFACE FOR NEW

L~ CEMENTITIOUS STUCCO ON WIRE MESH

REMOVE LOOSE OR DAMAGE STUCCO TO
L~ EXISTING BRICK

/—WIRE MESH FASTENED TO BRICK

ALIGN FINISHED
SURFACES

11

PLAN DETAIL

SCALE 3" = 1°-0"

EW ZINC CORNER BEAD

XISTING M

EPAIR PLASTER

WTING PLASTER

CORNER DETAIL

SCALE 3" = 10"

EXISTING PLASTE

"-3/8" CAULK JOINT
EPAIR PLASTER

- ve T o« L .
ety Y N AR
. . . .

JOINT DETAIL

SCALE 3" = 1-0"

EXTERIOR PLASTER REPAIR DETAIL

SCALE 3" = 10"

SCALE 3" = 1"-0"

2 SCALE 1—1/2" = 1'-0" 3
ADD ALTERNATE NO. GC—2 WINDOWS—NORTH WING— THIRD FLOOR
ADD ALTERNATE NO. GC-3 WINDOWS-EAST ELEVATION AND WEST WING
REFER TO: PROJECT MANUAL SECTION 012300 FOR DESCRIPTION.
NN I\ NN
2 1/2" 1'-2 1/2 21/2 4
1/4 ROUND PVC TRIM
2"x 6" WOOD FRAME
1/2” PVC PANNEL
AR BARRIER !
5/8"EXTERIOR GRADE /4" PVC TRIM
"ly / PLY SHEATHING | o
/ / / / VVERHCAL STUD /| /—2 x8" WOOD POST
K / / / \ /{ - RS RS
A;,:‘:.*‘.*‘.::'.'.:::,é.*.:,’.'.’.'A‘.}i+.*.’¢.' ooooo &t+L¢.QA'A.‘¢‘:.+.:.¢‘QA'tho‘o‘+.+‘¢¢:'h:‘:‘:‘:.:h:.: /;
: o @ - \ a s P |
=
-
% /
=
/8
<I
= -~ SYMMETRICAL ON C/L\N
/ 2 ' OF DETAIL /
e //
/ y e et K / \I{/—,r* \1,\ . T R
/ L4 /2" MDF— PAINTED N N
7 g \ /167 x 1-1/87 PANEL MOULDING ™ N N
I.K “““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ 1/2” X 2 1/2’? WOOD
\__1/2" X 2 1/2" WOOD TRIM ¢ TRIM PAINTED
PAINTED
3/4” WOOD SILL BELOW PAINTED 5/8" GYPSUM WALLBOA
7 SCALE 3" = 1’-0”
X VERTICAL BLOCKING-TYP.
1/2” PLYWOOD SPACER
/ UT 2X8 WOOD POST
+++++++++++++ 3/4"x4” PVC TRIM
-
o
I _ e
K VINYL WINDOW
. . :\_5EALANT SEE ALTERNATES
- LASHING
| »
g” \_1/2" WOOD TRIM
' PAINTED
! ALL BELOW
\3/4” WOOD SILL BELOW
PAINTED

EXIST. TO REMAIN

| — NEW VINYL WINDOW
SEE ALTERNATES

L — 2 1/2" METAL FRAMING

5/8" GYPSUM WALLBOARD

T MIN, VIF

WINDOW POCKET DETAIL

SCALE 2" = 10"

2 1/2"

/

/

\

% 3

3
i 23

23
& 23
b q
& .
X K3
Y °
b 3
- %
LGOI OO0

3 3/4

CAULK PERIMETER—

NNENANRANRNANY

ANNIANNEANNAN |

2" X 2" X 1/8"
ALUMINUM TOP RAIL

11/2"x 1" x 1/8"
ALUMIMUM CHANNEL

PERFORATED ARCHITECTURAL
METAL PANEL

SERIES: COMPOSITION FOLLY-
60% OPEN

11/2" x 1" x 1/8"
ALUMIMUM CHANNEL

2" X 2" X 1/8"
ALUMINUM SCREEN POST

2" X 2" %X 1/8
ALUMINUM BOTTOM
RAIL

SHIM BETWEEN POST AND
ESCUTCHEON PLATE

THRU BOLT WITH 1/4" DIA. STAINLESS
STEEL MACHINE BOLTS, NUTS AND LOCK
WASHERS. PROVIDE SLOTTED HOLES FOR
VERTICAL ADJUSTMENTS IN ALUMINUM TUBE

41/2" x 4 1/2" x 3/8" THK
ALUMINUM BOTTOM PLATE

EXISTING CONCRETE

YDECK

.

\: NN NN NN [ NN\ \\\:\I
\\\ \

4 1/2"

N\AMG AT BOTTOM

{4) DRILLED HOLES TO RECEIVE

11/2"

——EXPANSION BOLTS

28 X 28 X & ALUMINUM
|_—SCREEN POST WELDED TO BOTTOM
PLATE

41/2" x 4 1/2" x 3/8"

ALUMINUM

BOTTOM PLATE

,——3/8" DIA. EXPANSION BOLTS EPOXY SET
7 3" EMBEDMENT-TYP.

POST MOUNTING DETAIL

SCALE 3" = 10"

1/27 X 1/47THK
ALUMINUM ANGLE
WELDED TO ALUMINUM
TUBE

4

9

14

1/2" x 3/4" x 2 3/4"

5/16” x 3/4” SLOTTED
ALUMINUM PLATE

HOLES IN BOTTOM PLATE

1/4" DIA. THREADED
ALUMINUM ANCHOR

1/4" DIA. THREADED
ALUMINUM ANCHOR

2" x 2" x 1/8"
ALUMINUM POST

et B [ERRanY LN Y Y Y

PERFORATED

» ARCHITECTUREAL
| | 2172 L\ METAL PANEL
11/2" x 1" x 1/8"
ALUMIMUM CHANNEL
< EXISTING OPENING

PORTICO SCREEN PLAN DETAIL AT SIDE POST

SCALE 3" = 10"

2" x 2" x 1/8"
ALUMINUM POST

1/4” DIA STAINLESS
STL. THREADED ROD

1/4”

3/4 1/41 1/4" 3/4° /_

1/4" DIA. THREADED
ALUMINUM ANCHOR

g
o020

1/2° x 3/4" x 2 3/4
ALUM. PLATES

PORTICO SCREEN PLAN DETAIL AT INTERMEDIATE POST

5

SCALE 3" = 10"

REFER TO PROJECT MANUAL SECTION 057300 FOR RELATED
INFORMATION. EQUAL SUBSTITUTIONS WILL BE CONSIDERED.

ALUMINUM POST
ALUMINUM TOP RAIL

(2),1/4" DAVETER
/_ Lum! BOLTS
TOP RAL

1 3/47 x 1 3/4" x 1/4" PLATE TAPPED

- ALUM.PLATE TAPPED T OR THREADED
| RECEVE BOLT ROD

11/2" x 1" x 1/8”

/ ALUMIMUM CHANNEL

 11/2% 11/2" x 1

H 1/2" x 1/4" ALUMINUM
H ANGLE WELDED TO
ALUMINUM TUBE.

J

O 000
Y Y ™Y

,

1/2" x 3/4" x 2 3/4
ALUM. PLATES

< EXISTING OPENING

PORTICO SCREEN TOP RAIL DETAIL

SCALE 3" = 1"-0"

< EXISTING OPENING

---------

A
C
C
C
-

O 00O

PERFORATED
\  ARCHITECTUREAL
ETAL PANEL

SERIES: COMPOSITION
ey FOLLY— 60% OPEN

11/2" x 1" x 1/8"

ALUMIMUM CHANNEL
13/4" x 1 3/4" x 1/4"
ALUMINUM PLATE TAPPED

TO RECENVE BOLT

13/4" X 1 3/4" X 1"

CHANNEL 1/8" THICK

VIfIIYY T

BOTTOM RAIL

\_é; X 2" X 1/8" ALUM.
IL TIGHT SLIP FIT OVER

CONTINUOUS TACK CHANNEL
ELD ALL AROUND (2) 1/4" DIAMETER

PORTICO SCREEN BOTTOM RAIL DETAIL

SCALE 3" = 10"

4 TACK WELDS

2" X 2" X 1/8" ALUM.

TUBE

ALUM. TOP RAIL

D R R

1/4” DIA. THREADED
ALUM. ANCHOR

1/2" x 3/4" x 2 3/4
ALUM. PLATES (TYP.)

I &2) 1/4” DIAMETER
/ LuM! BOLTS

...........................................

PLATE TAPPED TO RECEIVE
BOLT

1/47DIA STAINLESS
STL. THREADED ROD

INTERMEDIATE POST

PORTICO SCREEN TOP RAIL DETAIL/ INTERMEDIATE POST

1 O SCALE 3" = 1"-07

E/OVOVOV(

2 1/2"

CONTINUQUS TACK
WELD ALL AROUND
TYPICAL

TO RECEIVE BOLT

13/4" x 1 3/4" x 1/4°
ALUM. PLATE TAPPED

2 1/2"

/
O
...... >C>
O
=

11/2" x 1" x 1/8"
ALUMIMUM CHANNEL

1.3/4" X1 3/4 X1
CHANNEL 1/8" THICK

2" X 2" X 1/8" ALUM.
RAIL TIGHT SLIP FIT OVER
CHANNEL

(2) 1/4” DIAMETER

@ PORTICO SCREEN BOTTOM RAIL DETAI/{NTERMEDIATE POST

SCALE 3" = 10"

O O

Lothrop Associates LLP Architects
333 Westchester Avenue

White Plains, New York 10604

914-741-1115

White Plains Rochester Red Bank Hartford

BLAKE ENGINEERING PLLC
1898 COUNTY ROUTE 1 WESTTOWN. NY 10998
TEL: B45-467-9207  FAX: 845-767-5050
MBLAKE&BIAKEENGINEER (NGPLLC.COM

MATTHEW G BLAKE. PE, LEED AP
NY - 89239 N - GEOSO037  PA - PLEO79303
Ma - 53197 CT - 32283 FL - 85928

EM/S

ENVIRONMENTAL MANAGEMENT SOLUTIONS

420 COLUMBUS AVENUE,
VALHALLA, NY 10595

1 03-19-2021 ISSUED FOR BID

ISSUE NO. ISSUE DATE DESCRIPTION

ALTERATIONS TO
BUILDING # 51,
EMERGENCY HOUSING
GROUP
38 SEWARD AVENUE
MIDDLETOWN, NY 10940

MISCELLANEOUS
DETAILS-I

PROJECT NO.: 1802-01

DRAWING NO.:

A-501




